DESSERTS

CHART HOUSE SIGNATURE DESSERT Please allow 30 minutes for preparation.	Τ
Hot Chocolate Lava Cake A rich chocolate cake with molten center, made with Godiva® Liqueur. Served warm, topped with chocolate sauce, Heath® Bar Crunch and vanilla ice cream.	11.5
Classic Crème Brûlée French vanilla bean infused custard, caramelized sugar	8
Tall & Creamy Cheesecake sweetened graham cracker crust, fresh strawberries	9
Croissant Bread Pudding cinnamon custard, bourbon sauce, caramel ice cream	9
"Original" Mud Pie A mountain of coffee ice cream, chocolate sauce & whipped cream	8.5
Raspberry Sorbet Light & refreshing	6
COFFEE	
Aspen Baileys Irish Cream, Grand Marnier, Frangelico Hazelnut Liqueur, whipped cream	8
Irish Jameson Irish Whiskey, whipped cream, green créme de menthe	8
Keoke Kahlúa Coffee Liqueur, brandy, dark créme de cacao, whipped cream	8

FINE SIPPING

SMALL BATCH BOURE WHISKEY + RYE ———	BON	,	
Angel's Envy			14
Angel's Envy Rye			15
Baker's			12
Basil Hayden's			12
Blanton's			12
Booker's			12
Buffalo Trace			11
Bulleit			12
Bulleit Rye			12
Canadian Club			8
Crown Royal			12
Crown Royal Regal Apple			12
Crown Royal Reserve			14
•			12
Crown Royal XD			
Crown Royal XR Fireball			35
			8
Gentleman Jack			12
Hudson Corn			11
Hudson Manhattan Rye			12
Jack Daniel's			11
Jack Daniel's Single Barrel			14
Jameson Irish			11
Maker's Mark 46			13
Maker's Mark			12
Redbreast 12 Yr			11
Sazerac Rye 6			11
Tullamore Dew			11
Wild Turkey 101			11
Woodford Reserve			12
Yellow Rose			12
COGNAC-			
Courvoisier V.S.O.P.			11
Courvoisier X.O.			25
Hennessy 'Paradis Extra'			80
Hennessy 'Richard'	(1 oz)	175	(2 oz) 350
Hennessy X.O.	()		29
Kelt X.O.			40
Martell 'Cordon Bleu'			25
Pierre Ferrand '20 Yr Reserve'			20
Pierre Ferrand 'Selection Des Anges	,		37
Rémy Martin 'Extra'			62
Remy Morum Extro			UZ

(1 oz) 165 (2 oz) 330

11

33

Rémy Martin 'Louis XIII' Rémy Martin V.S.O.P.

Rémy Martin X.O.

FINE SIPPING

SCOTCH —
SINGLE MALT
Aberlour 12 Yr, Speyside 8
Ardbeg 10 Yr, Islay 14
Auchentoshan 12 Yr, Lowland 10
Balvenie 12 Yr, Speyside 16
Balvenie 21 Yr 'Portwood', Speyside 35
Bowmore 12 Yr, Islay 12
Caol Ila, Islay 12
Cragganmore 12 Yr, Speyside 11
Glenfiddich 18 Yr, Speyside 17
Glenkinchie 12 Yr, Lowland 11
Glenlivet 18 Yr, Speyside 22
Glenlivet 21 Yr, Speyside 32
Glenlivet 25 Yr, Speyside (1 oz) 55 (2 oz) 110
Glenmorangie 25 Yr, Highland 65
Highland Park 18 Yr, Orkney Islands 24
Lagavulin 16 Yr, Islay 20
Laphroaig 10 Yr 'Cask Strength', Islay 16
Macallan 12 Yr, Speyside 12
Macallan 15 Yr 'Fine Oak', Speyside 14
Macallan 17 Yr 'Fine Oak', Speyside 19
Macallan 18 Yr, Speyside 29
Macallan 25 Yr, Speyside (1 oz) 60 (2 oz) 120
Macallan 30 Yr 'Sherry Oak', Speyside (1 oz) 125 (2 oz) 250
Oban 14 Yr, Highland 14
Oban 18 Yr, Highland 24
Scapa 16 Yr, Orkney 19
Talisker 10 Yr, Skye 13
Tomatin 15 Yr, Highland 14
BLENDED
Chivas Regal 18 Yr 16
Dewar's 12 Yr 14
The Dimple Pinch 15 Yr 11
Hibiki 12 Yr 18
Johnnie Walker 'Blue Label' 55
Johnnie Walker 'Private Collection Smoke' (1 oz) 85 (2 oz) 190

275

185

65

PORTS -

Fonseca 85

Fonseca 94

Ramos 20 Yr

CIGARS

ARTURO FUENTE CHURCHILL ~ 7.25 x 48 Constructed with Arturo Fuentes world-renowned Dominican Filler and binder that is known for its mild flavor and smooth consistent draw.	21
ARTURO FUENTE 'HEMINGWAY' SHORT STORY ~ 4.5 x 49 One of the most coveted sizes in the Hemingway series, this mild to medium bodied smoke is an interpretation of the 'Perfecto' shape and was crafted in homage to 'The Old Man and the Sea' himself—Ernest Hemingway.	18
ASHTON 'VSG ECLIPSE' TUBO ~ 6 x 52 Blended exclusively for Ashton by Carlos Fuente Jr. Dominican filler taken from 4 to 5 year old plants, the distinct flavor of this full bodied cigar comes from the Ecuador grown wrapper. A rich and intoxicating smoke.	35
COHIBA 'CRYSTAL' CORONA ~ 5.5 x 42 The dark, rich flavors of the Cameroon wrapper are balanced by the smooth smoking Piloto Cubano tobacco leaf filler grown in the Dominican Republic with an Indonesian grown binder.	39
DREW ESTATE 'LIGA UNDERCROWN' GRAN TORO MADURO ~ 6 x 52 A medium to full-bodied smoke, handmade from some of the same tobaccos as the famous Liga Privada. Brazilian and Nicaraguan fillers provide the body that is balanced by the sweet San Andreas Maduro wrapper.	22
MONTECRISTO 'WHITE LABEL ESPECIAL NO.1' ~ 7 x 44 A long, mild smoke crafted with Dominican Republic and Nicaraguan fillers, wrapped in a premium Connecticut wrapper, this cigar has a silky smooth finish.	24
OLIVA 'SERIE V' ROBUSTO ~ 5 x 54 An excellent, full-bodied robusto that uses a blend of fermented ligero from the Jalapa Valley and other premium Nicaraguan long filler tobacco to provide a smooth smoke full of flavor.	24
PUNCH DOUBLE CORONA ~ 6.75 x 48 Blended with full-bodied Honduran, Nicaraguan and Dominican tobaccos with a robust Ecuadoran wrapper, this Punch cigar stays true to its name. Big, rich and flavorful.	20
ROMEO Y JULIETA 'HABANA RESERVE' ROTHSCHILD ~ 5 x 54 Crafted in the Honduras, this medium to full bodied smoke is unique in that it is the only R&J cigar not crafted in the Domincan Republic. The Nicaraguan and Honduran filler with a Nicaraguan binder are all neatly wrapped in an oily, leather looking Nicaraguan wrapper. A smooth, pleasant smoke.	21
ZINO PLATINUM 'CROWN SERIES' TUBO ~ 6 x 60 Filled with 5 year old Dominican and Peruvian tobaccos	65

and a 2 year aged Connecticut binder, this handmade cigar is full of flavor. The 2 year aged Ecuadorian leaf wrapper is golden brown with a gorgeous oily sheen. Spicy and smooth, this versatile smoke is strong enough for the seasoned smoker yet

tame enough for the beginner.